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QUESTION 1

What are two advantages of a point-to-point OSPF adjacency? (Choose two.) 

A. Only a DR is elected. 

B. No type 1 LSAs are generated. 

C. No type 2 LSAs are generated. 

D. There is quicker neighbor establishment. 

Correct Answer: CD 

 

QUESTION 2

Which static route next-hop value indicates that the packet will be silently dropped? 

A. resolve 

B. discard 

C. reject 

D. next-table 

Correct Answer: B 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, which policy will export routes to IBGP peers? 

A. static-3 

B. static-4 

C. static-1 

D. static-2 

Correct Answer: B 
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QUESTION 4

Which two statements describe NSR? (Choose two.) 

A. NSR requires GRES to function properly. 

B. NSR provides routing loop protection. 

C. NSR rapidly detects link failures. 

D. NSR provides high availability with multiple Routing Engines. 

Correct Answer: AD 

 

QUESTION 5

Click the Exhibit button. 
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Referring to the exhibit, what is the problem? 

A. The LAG member interfaces are configured across different line cards 

B. LAG requires more than two member links 

C. LACP is required for LAG to work 

D. Aggregated interfaces must be defined under the chassis stanza 

Correct Answer: D 
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